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ECONOMIC ADMINISTRATION AND FINANCIAL MANAGEMENT
Second Paper

(1) Busineas Budgeting

Time Allowed : Three Hours Maximum Marks: 100

g3 AhFan 5% : 100
Attempt any five question in all selecting one guestion from each unit.
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No supplementary Answer book will be given to any candidate. Hence the candidates showld u rite theer ansuers
precisely in the main answer book only.
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All the parts of one question should be answered at one place in the ansiwer-book. One complete question should
not be answered at different places in the answer book.
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Write your roll number on question paper before start writing answers of questions.

v¥ i & I foran & g X999 W 057 TR v frd |

UNIT-1/¥&1§-1

1. Define ‘Budget’ and ‘Budgeting’. Discusa its advantages and limitations. 6G+5+6
‘ae' w awe  wfwifee S T e g dedl # fade w5l
OR / 3gar
From the following particulara prepare a flexible budget for Ananya Ltd. showing the vstimated 2alv - 20

costs and profita at 60%, 80% and 100% activity. (This company 18 working at 50% capacity)

s fa. & fo o gEnall & 60%, 80% W& 100% faramierm o sigmfa fashl, = vd v 29my 2o
v a9z 3R A1 (7€ FH 60% Frareiaa w s & @ )

Fixed Expenses T Variable Expenses (at 50% activity)
Management Baluries  4,00,000 [ Materinls 12,50 000
Rent and Rates 3,00,000 Labour L300 000
Depreciation on Machine 3,50,000 Salesmen's Commussion 140000
Sundry Office Cost 4,50,000 27 4000
15,00,000
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Semi Variable expenses (dt 50% capacity)

4
Plant Maintenance 1,560,000
Indirect Labour 4,70,000
Salesmier's Bilaries 1.46.000
Sundry Kxpenses 1.48.000 —1
9,13.000 ™)

Semi-variable expenses increase by 10% of the above figuréa-hetween 60% and 70% activity; increase by
16% of the above figures between 70% and 85% activit%d increase by 20% of the above figures
between 85% and 100%. Fixed expenaes remain consta hatever be the level of activity. Sales at
60% activity are T 58,00,000; at 80% activity are ¥ 70,00,000 and at 100% activity are ¥ 80,00,000.

E - TREdaeie =9 60% W@ 70% TRanie ¥ wey Sudea St § 10% 9 & g 70% T 85%
foramefieran 3 o I o1 A 16% g0 €90 85% T 100% ferareiterar & T I9aa Fhi ¥ 20% Fed
¥ foqr o fFamierm & feet o w W I & @ ¥ e0% Tramiterm W st T 58,00,000: 80%
feranyiterar W skl T 70.00.000 TF 100% FFaTeiera W fas! T 80,00,000 ¥ 1

UNIT - 11/ 978 - 11
2. ‘Define Business Forecasting. Discuss its importance and limjtations. 4+5+8
ST a1 TR wfe | T e T st e i
OR /31941

“A forecast is nothing more than an estimate of future co?ditions." Explain. Discuss the various 20
techniques of Business Forecasting. e

o)
“ iR wfes 9t feafirll % oam @ s $o 1 1) g EETa® QEAE & fafe= At
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UNIT - 111/ 313 - 111
3. What is meant by Cash Budget ? Describe the various methods of preparing Cash Budget. 4+16
g a2 & 1 AfaaE &7 Jehe wwe IR hi fafi fafeal & i sl
OR / 3191
Find out the following Material Variances: A+4+4+4+4
frefafaa el faao 3@ FiEg
(] Material Cost Variance
arft @ TR
@) Material Price Variance
|yt gea fa=
(in) Material Usage Variance
w3 fae
(ivy Material Mix Variance
anit g fa=ro —
vy Material Yield Variance g
wrft 39 faamm <
—
-
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The information 1 as followa

A fas w ¥
~_ Standard Actual
Qty Price " Amount i Qty Price Amount
L ke ) @ ™M (ke) ®) )
i oy .
N 120 600 =, 112 5 560
80 10 800 = 88 10 880
=
200 1400 200 1,440
Less 30% 60 (25%) 60
Cutput 140 160
UNIT-IV/3%E -1V

Explain the nature and significance of “Key Factor”. How product mix decisions influenced by it 7

Tfim w1+ Wi v e &) ARl I9R - o ffg ud frg yer wwnfaa da 22

10+10

OR /7 3qar
A manufacture is planning to drop one item from his product line and replace it with another. His 20
present cost and output data are as follows : 4
I FqEH Mmﬁﬁaﬁﬁwaﬁmm%m@ﬂaﬁwmmmm fm s
(4 mﬁaﬁqﬁmamﬁﬁtﬂaﬁﬁﬁmﬁ%%:
Item Price @ | Variable Cost per ifem @) | Percent of Total Sales Volume (%)
A 20 10 40
2b 15 35
C 30 18 25
The fixed costs per year : T 1,560,000
Total sales of last year : T 5,00,000
The changes under consideration consists in droping the product C and replacing it with product D. If
this change is made the manufactures forecasts the following cost and output data:
C T T TR F¢ Hh D Y F I fa=roita &) gfs 3¢ 9itgd = foar s & & @rE 9 3R
et 3 A vER €
Item |Price ® | Variable Cost peritem ) | Percent of Total Sales Volume (%)
A 20 10 50
30
p | 2 Y~ 20
Comment upon the plan of the manufacturer. g
ZANeE F1 A g frEea Fifag ) :2
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UNIT -V/¥&§ -V
What do you understand by Feasibility study ? Discuse different aspects of Technical Feasibility 5+16
8is.
AT ST | e gmd ¥ 2 gedtent anoran favemm F fafiv=m wees @ faa=a wifem

OR / 319t
Calculate Weighted Average Cost of Capital from the following information :

fr=fafes g 2 36t ) wifm ofea @ @ i)

4
5,000 Equity Shares(fully paidup)  5,00,000
4,000 6% Debentures 4,00,000
3,000 6% Preference Shares 3,00,000
Retained Earnings 2,00,000

Earning per equity share has been T 10 during the past year and equity shares are being sold in the
. N 0
market at par. Assume corporate tax at 50 percent and shareholders’ personal tax liability 10%.
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